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= ' B. Sc. Second Year Examination, 2012
CHEMISTRY-V Organic Chemistry

Time: 3 Hours| (B-207) IM.M.:50
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1. miR-iRfaw wsey T e 22 o Aeifiem A fre @ fRe g e wom-

What are organo-metallic compounds ? How does C,H MgBr react with—

(i) C,H,OH (i) Semerdt g9 Ethoxy ethane
(i) THIRISHN Acetophenone (iv) CH,CN
(v) Bromboenzene STHIS=I ' (vi) CO, (Solid)

2 = femanstl &1 Hepf=9 WHU—Give the mechanism of :
(i) Tese |eAA Aldol Condensation.
(i) BTHEA m fsa1 Hoffmann Bromamide reaction.

(iii) TR 397 Ts6a1 Reimer Tiemann reaction. ‘
3. %ﬁﬁﬁmma@?@%ﬁaﬂwﬁﬁ?uﬁﬁm@ﬁmmmmé—

How is Benzaldehyde prepared from Toluene ? How does it react with :

(i) NH, N (ii) 2,4 DNP

(iii) Zn-Hg/Hcl ~(iv) 9= (Conc.) KOH .

(v) wdifes QWE'BQBEFG..W EFﬁéZ Acetic anhydride + Sodium acetate
4. RO qAZA—

(1) ®HE, mm@mm%l
(z)qmﬁmawﬁmmﬁmafwﬂmﬁéﬁ%l
(3) T, s fawum w/afis A 8, S ®t STIE

Givereason :

(1) Phenol is less acndlc than Benzoic acid.

(2) Acetaldehyde and F ormaldehyde behave differently towards alkali.

(3) Phenol is less/more reactive towards electrophillic substitution than Benzene.
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Give order of activity as mentioned in Bracket with brief reasoning:

(1) HF,HC/,HBr,HI, (B.P)
(2) o, m, Para- Nitrophenol (acid nature)

(3) WH@WWW(W)

Benzaldehyde, NO,-Benzaldehyde, Acetophenone, Benzophenone (Addmon)
(4) CH,COC/, (CH, C0), 0, CH, CONH,,CH,, COOC,H; (Hydrolysis)

6. M BIN % Sf@—What happens when :
(1) Acetophenone, I, + NaOH % |y fman w21 Acetophenone reacts with [, and NaOH

@) Glycerol ® KHSO ® Wy T FW %lGlycerol is heated with KHSO,.
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@) I, Mew TemgRe @ WK H,S0, % T 0
Phenol reacts with Phthalic anhydride & Conc. H,S0O, - /| % W T fHa S :?

@ Hee | 3R W AIC
& : e < W fi T 1 A le::ed with AICL,,
Phenol reacts with Acetic Anhydride and the Product is h [

. : ith LIA/H,.
() Wrer-3iez = LiA, @ wer m e §1Phenyl benzoate is heaed with LIA/H,
. 4 - A,
©) fata %t Rhodium w1 sufeerft ¥ CO & @™ Wf F Bl ‘
Methanol reacts with CO in Presence of Rhodium. ‘
(7) = H dil H,S0,+ HgsO, & Trer T feran ST 21

Butyne reacts with dil H,SO, + HgSO,.
@ueg-9 Section-B '

e W WS W e #, et 9w ) v R o e o S
7. ®Y vfaff FM—How will you convert : |
() CH, NH, =t C,H,NH, | Methyl Amine to Ethyl Amine.
(i) SHITE T =@y 32T Tfge W Propanoic acid to Ethanoic acid.
(i) S=ic W1 AEI-RET F1 Benzaldehyde to Nitro-styrene.
(iv) Tt #t S=mae THH H1 Aniline to Benzyl amine.
8 ™= ¥ %9 97 wini How would you distinguish between—
() TR, N-Afre wfirefs 5 N, N-srEdfora ufiefts
Aniline, N-methyl Aniline & N. N. dimethyl Aniline.
(i) 9=A-2-3F T TeA-3-af Pentan-2-one Pentan-3-one.
9. @WW‘A’WKOH@mmﬁWa‘m%‘B’ F ‘C’. ‘B’ SISO R Iy
‘A @RI C et & A & Aifi D’ Il 2 S~ An organic compound ‘A’ reacted with
Conc. KOH and gave two Products ‘B’ and ‘C’. ‘B’on oxidation gave back ‘A’. “‘C’ on acidification

gave compound ‘D’ which,
() NaHCO, % &% CO, (g) &1 #1 Evolved CO, (g) with NaHCO,
(i)  Silver-mirror TerT a1 2 Gave Silver miror test. h
(i) HgCl, % w21 fiman 7 1 Reacted with HgCl,,
RN 34 B A, B, C a D At &l Wﬁm [dentify comi)ounds A, B, C and D giving reasons ?
WUg-H Section-C :
e wm%ﬁam%,qiﬁmaﬁaﬁ%.mﬁaﬁémwﬁwaﬁﬁm
10. () Tk CArAE FATSY S AT Aldol-condensation BT oY &1 Cannizaro reaction.

Name a Ketone which neither gives Aldol condensation nor Cannizao reaction,

-3W{— Di Phenyl Ketone CH,-CO-C_ H;
(ii) o,ln,Parammaﬁﬁ.ﬁﬁmm@
Among o, m, Para-hyd roxy benzoic acid Whlch' is the ;tronggst acid.
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(CH,CO0),,0

H.CONH
by Z * : Heat

R W e aaru)
(CH,CO0),,0
Heat

(v) SHETET T Structure TARUIGive the structure of Bakelite
ST YEwellge & G-
OH

Name the Product in Z H,CONH,

......

| OH
I
—CH, —CH,~ H-
O™ Of
CH, CH,

g _ ,
—CH;, CE ©"CH2‘ '
OH OlH ' . . v
() T Optically active acid =T AT Fe=T St W w7y W TARISEIES AT 4T &
Name an optically active acid which does not give anh

— Lactic acid '

CH,CHOHCOCH .

50 VAN

H—ﬁ,‘—Ofﬁ HO—F_H,

' coon }' | COOHj
‘\\d_f@/,_ _ U form_/ -

ydride on heating,
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